
 

Amortized Analysis cont'd 0925

Amortized Analysis of Binary Counter
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Accounting method

I credit can pay for a bit flip

Scheme

each Inc operation will take a

Max of 2 credits out of the bank

and that will be sufficient to pay
for all the work of the m inc ops

so Amortized running time is OCD per op

To show 2 credits per op will pay
for all the work

Inc is given
2 credits

Starts at rightmost bit

while it sees a 1

takes credit that is on top of the 1

uses it to pay for flipping the 1 to 0

when it sees the rightmost O

Pays 1 of the given credits
to flip O

places I of the given credits ontop
of the

new 1



Potential Method

for you to think about
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